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A variable inductor includes an inductor element and a first inductance adjusting circuit. The first
inductance adjusting circuit includes a first open-loop structure and a first switch element. The first switch
element is coupled to the first open-loop structure. When the first switch element is in a conducting status,
the first open-loop structure and the first switch element forms a first closed loop to induce a first magnetic

flux which alters a magnetic flux from the inductor element in operation.
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A variable inductor includes an inductor element and a first
inductance adjusting circuit. The first inductance adjusting circuit
includes a first open-loop structure and a first switch element. The first
switch element is coupled to the first open-loop structure. When the first
switch element is in a conducting status, the first open-loop structure
and ‘the first switch element forms a first closed loop to induce a first
magnetic flux which alters a magnetic flux from the inductor element in

operation.
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